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Subtracting Decimals

Name:

L 0se jede Aufgabe.
1) 451+1,113=

2) 2,876-0,890=

3) 73536-233=

4) 187+49=

5) 24+133=

6) 60,35+ 54,6 =

7) 59,852 + 44,37 =

8) 72,75-19,66=

9 919+5131=

10) 33,38-2,76=

11) 59,28 - 28,002 =

12) 94,7+54,9=

Antworten

10.

11

12.
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Subtracting Decimals Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 451+1113= 5623
1 5,623
2 1,986
2) 2,876-0,890= 1,986
3. 50,236
3) 73536-233= 50,236 4. 23,6
5, 3,73
4) 187+49= 23,6
6. 114,95
7. 104,222
5 24+133= 3,73
8. 53,09
6) 60,35+54,6= 114,95 0. 143,21
0. 30,62
7) 59,852 +4437= 104,222
1. 31,278
12. 149,6
8 72,75-1966= 53,09
9) 919+51,31= 14321
10) 33,38-2,76= 30,62
11) 59,28-28,002= 31,278
12) 947+549= 1496
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Subtracting Decimals

Name:

L 0se jede Aufgabe.

Antworten

30,62
5,623
104,222

143,21
53,09
114,95

1,986
23,6

50,236
3,73 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

451+ 1,113 =

2,876-0,890 =

73,536 - 23,3 =

18,7+4,9=

24+133=

60,35 + 54,6 =

59,852 + 44,37 =

72,75 - 19,66 =

91,9+51,31=

33,38-2,76 =

10.
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